
 

 

 

  

 
4𝑥2−12𝑥+9

20−20𝑥
:

12𝑥2−27

12𝑥+18
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294−6𝑥2
=

1

(𝑥−7)2
+

6

𝑥2+7𝑥
   

 (
1

9
)

2𝑥
= 81

 

 

ℎ(𝑥) = −0.5(𝑥 + 2)2 + 3𝑓(𝑥) = −0.5(𝑥 − 2)2 + 3𝑔(𝑥) = −0.5(𝑥 − 2)2

 

 

 

 

 



 

 

 ∢A = 90°

 

 

 

 

 

 

 

 

 

 

 2 =  HE 5 =  LH 2.5 =  EK
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𝑥
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)

6
+ 7 (

𝑥

5
)

3
− 8 = 0

 4(2𝑥 + 7) = 𝑏2 − 𝑏(3 + 2x)

 

 

 𝑦 = 𝑘

 

 

נקודות  4-ב 

𝑔(𝑥) = −2 ∙ 𝑓(𝑥)

 

ℎ(𝑥) = 𝑥2(𝑥 − 4)(𝑥 + 2)
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2
𝑥 + 1
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